
Class X                                                      MATH                                                   WORKSHEET

Q1. A ladder, leaning against a wall, makes an angle of 60° with the horizontal. If the
foot of the ladder is 2.5 m away from the wall, find the length of the ladder.

Q2. The tops of two towers of height x and y, standing on level ground, subtend angles
of 30° and 60° respectively at the center of the line joining their feet, then find x : y.

Q3. The angles of depression of two ships from the top of a lighthouse and on the same
side of it are found to be 45° and 30°. If the ships are 200 m apart, find the height of the
light house.

Q4. As observed from the top of a 60 m high lighthouse from the sea-level, the angles of
depression of two ships are 30° and 45°. If one ship is exactly behind the other on the
same side of the light-house, find the distance between the two ships.

Q5. Two ships are there in the sea on either side of a lighthouse in such a way that the
ships and the lighthouse are in the same straight line. The angles of depression of two
ships as observed from the top of the light house are 60° and 45°. If the height of the
light house is 200 m, find the distance between the two ships.

Q6.The angle of elevation of the top of a building from the foot of the tower is 30° and
the angle of elevation of the top of the tower from the foot of the building is 45°. If the
tower is 30 m high, find the height of the building.

Q7. A man standing on the deck of a ship, which is 10 m above water level, observes the
angle of elevation of the top of a hill as 60° and the angle of depression of the base of
the hill as 30°. Find the distance of the hill from the ship and the height of the hill

Q8. The angle of elevation of the top of a vertical tower from a point on the ground is
60°. From another point 10 m vertically above the first, its angle of elevation is 30°. Find
the height of the tower.

Q9. Two poles of equal heights are standing opposite to each other on either side of the
road, which is 100 m wide. From a point between them on the road, the angles of
elevation of the top of the poles are 60° and 30° respectively. Find the height of the
poles.



Q10. From the top of a vertical tower, the angles of depression of two cars, in the same
straight line with the base of the tower, at an instant are found to be 45° and 60°. If the
cars are 100 m apart and are on the same side of the tower, find the height of the tower.

Q11. The angles of depression of the top and bottom of a 12 m tall building, from the top
of a multi-storeyed building are 30° and 60° respectively. Find the height of the multi
storeyed building.

Q12. The angle of elevation of the top of a hill at the foot of a tower is 60° and the angle
of depression from the top of the tower at the foot of the hill is 30°. If the tower is 50 m
high, find the height of the hill.

Q13. The shadow of a tower standing on a level ground is found to be 20 m longer when
the Sun’s altitude is 45° than when it is 60°. Find the height of the tower.

Q14.A kite is flying at a height of 45 m above the ground. The string attached to the kite
is temporarily tied to a point on the ground. The inclination of the string with the ground
is 60°. Find the length of the string assuming that there is no slack in the string.

Q15. The angles of depression of the top and bottom of a tower as seen from the top of
a 60√3 m high cliff are 45° and 60° respectively. Find the height of the tower.

Q16. The angles of elevation and depression of the top and bottom of a light-house from
the top of a 60 m high building are 30° and 60° respectively. Find:
(i) the difference between the heights of the light-house and the building.
(ii) the distance between the light-house and the building.

Q17.The angle of elevation of the top of a building from the foot of the tower is 30° and
the angle of elevation of the top of the tower from the foot of the building is 60°. If the
tower is 60 m high, find the height of the building.

Q18. From a point P on the ground, the angle of elevation of the top of a 10m tall
building is 30°. A flagstaff is fixed at the top of the building and the angle of elevation of
the top of the flagstaff from P is 45°. Find the length of the flagstaff and the distance of
the building from the point P.

Q19. Two poles of equal heights are standing opposite each other on either side of the
road, which is 80 m wide. From a point between them on the road, the angles of
elevation of the top of the poles are 60° and 30° respectively. Find the height of the
poles and the distances of the point from the poles.



Q20. A peacock is sitting on the top of a pillar, which is 9 m high. From a point 27 m
away from the bottom of the pillar, a snake is coming to its hole at the base of the pillar.
Seeing the snake the peacock pounces on it. If their speeds are equal, at what distance
from the hole is the snake caught?


